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SEROME | EES | 019A1007 ik \ K | PR | A REA A FE
. SIERHO FinlZBET 51 SUERIHRA
ﬁﬁg TREOBBOESILADKRES TREDOHBESILNDKRES TREOBBOSILADKRES TREDHEBSSLADKRES
5 R 4 ﬁa; ‘Fﬁﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁn*ﬁﬁ%lzg;ka‘u ‘(.%r‘n? jj(g')\;tnié X 4 ;.g,r'na; J:ﬁﬁ;ﬁ\(ﬁ)(btl:‘.% jj(ﬁitnié X 4 J:ﬁﬁb\(;bn)(])tt% z.%r‘n? t(gifn?)é
; 100kN/mM##8Z % - -~ - -|3mZEBZD -~ - - -| 100kN/mM%#8Z% % - -~ - -|3mEBZD -~ - -
ZznLst 1.00 | 0.00 ~ 4.34 54.20 | #hdstk | 000 ~ 454| 1.98 10.67 Zzh s 1.00 | 5.00 ~ 5.00 54.20 | #hs | 5.00 ~ 5.00 | 1.98 10.67
2 100kN/mM#%#8Z % - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8Z% % - -~ - -|3mEBZD -~ - - -
Zhnst 1.00 | 0.00 ~ 5.53 69.06 | TN | 000 ~ 553] 1.98 10.67 zh st 1.00 | 5.00 ~ 6.80 69.06 | Tns | 6.00 ~ 6.80 | 1.98 10.57
3 100kN/mM#%# 8% % - -~ - -|3mZE#BZ 5 -~ - - -| 100kN/m%#8 =% - -~ - -|3mE#BZD -~
ZznLst 1.00 | 0.00 ~ 6.64 83.77 | EnLS | 000 ~ 664|200 10.72 zh st 1.00 | 5.00 ~ 9.10 83.77 | #hs | 5.00 ~ 9.10 | 2.00 10.72
4 100kN/m##8%%5| 1.00| 0.00 ~ 059 10882 |3mEBZ5% -~ - - -| 100kN/m%E##Z5 | 1.00 | 10.73 ~ 1239 10882 |3m%EiBZ5 -~
Zzhnst 1001059 ~ 838 100.00| Tns | 0oo ~ 838|229 12.26 zh st 1.00 | 5.00 ~ 1073 100.00 | #nS | 500 ~ 1239 | 2.29 12.26
5 100kN/mM#%#BZ % - -~ - -|3mZE#BZ5 -~ - - -| 100kN/m%#8 =% - -~ - -|3mE#BZD -~
zhnst 1.00 | 0.00 ~ 6.30 79.12 | #nS | 000 ~ 630|208 11.13 zh st 1.00 | 5.00 ~ 9.11 79.12 | #nS | 600 ~ 9111208 11.13
6 100kN/mM#%#BZ % - -~ - -|3mZE#BZ5 -~ - - -| 100kN/m%#8 =% - -~ - -|3mE#BZD -~
Zzhnst 1.00 | 0.00 ~ 6.30 79.12 | =04 | 000 ~ 630|208 11.13 zh st 1.00 | 5.00 ~ 9.11 79.12 | =nS | 600 ~ 9111208 11.13
- 100kN/m##8%%5| 1.00| 000 ~ 025 10362 |3mEBZ5 -~ - - -| 100kN/m%E#Z25 | 1.00 | 1086 ~ 1152 10362 |3mEiBZ5 -~
LS 1001025 ~ 803 100.00| FThis | 000 ~ 803|1.88 10.07 zhst 1.00 | 5.00 ~ 108 | 100.00 | =ns | 500 ~ 1152 1.88 10.07
P 100kN/mM##BZ 5 - -~ - -|3mEHEZS -~ - - -| 100kN/m%#EZ % - -~ - -|3mEEZS -~ - - -
zh s 1.00 | 000 ~ 467 5820 | FnLst | 000 ~ 0.00| 1.62 867 Tnelst 1.00 | 5.00 ~ 5.00 5820 | #ns | 500 ~ 500|162 867
9 100kN/m##BZ % - -~ - -|3mZEEZS -~ - - -| 100kN/m%#EZ % - -~ - -|3mEEZ D -~
Zh s 1.00 | 0.00 ~ 720 91.56 | FnLst | 000 ~ 000|167 895 Tnelst 1.00 500 ~ 936 91.56 | Tnst | 500 ~ 9.56 | 1.67 895
10 100kN/m##8%%5| 1.00| 000 ~ 014 10204 |3mEBZ5D -~ - - -| 100kN/mi%E#Z5 | 1.00 | 1208 ~ 1260 102.04 |3m%EEBZ5 -~
LS 1001014 ~ 792 100.00| FThis | 000 ~ 792 1.96 10.49 zhst 1.00 | 5.00 ~ 1208| 100.00 | =nS | 500 ~ 1260 1.96 10.49
17 100kN/m##BZ % - -~ - -|3mZEEZS -~ - - -| 100kN/m%#EZ % - -~ - -|3mEEZS -~
Zh s 1.00 | 0.00 ~ 647 81.53 | #FnhLst | 0.00 ~ 0.00| 1.62 8.65 Tnelst 1.00 | 500 ~ 810 81.58 | #nst | 500 ~ 810|162 8.65
12 100kN/mM%#EZ % - -~ - -|13mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mEHEZ D -~
Zh st 1.00 | 0.00 ~ 548 68.38 | TnLS | 000 ~ 548|175 9.36 Zh st 1.00 | 6.00 ~ 6.00 68.38 | TN | 6,00 ~ 6.00]1.75 9.36
19 100kN/mM%#EZ % - -~ - -|13mZEEZ D -~ - - -| 100kN/mi%#BZ % - -~ - -|3mEHEZ D -~
Zh LS 1.00 | 0.00 ~ 5.01 62.44 | Fhst | 000 ~ 501|196 10.50 ThLLst 1.00| 500 ~ 590 62.44 | ThLS | 500 ~ 590 | 1.96 10.50
14 100kN/mM%#EZ % - -~ - -|13mZEEZ D -~ - - -| 100kN/mi%#BZ % - -~ - -|3mEHEZ D -~
ZThLLS 1.00 | 0.00 ~ 4.34 54.22 | #Fhist | 000 ~ 4.84|1.97 10.67 ThLlst 1.00|5.00 ~ 5.00 54.22 | FnS | 500 ~ 500|197 10.57
15 100kN/mM%#EZ % - -~ - -|13mZEEZD -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mEEZ D -~
st 1.00 1 000 ~ 477 59.50 | =hst | 0oo ~ 000|171 917 ZzhLs 1.00 | 5.00 ~ 56.00 59.60 | Ths | 5.00 ~ 500 |1.71 917
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BR3—2 BEWICHEATILEEINIERICETIEHE?/2) _ _ | BEEE | P2
SEROME | EES | 01941007 Bk \ K | PR | A REA A FE
. SIERHO FinlZBET 51 SUERIHRA
ﬁﬁg TREOBBOESILADKRES TREDOHBESILNDKRES TREOBBOSILADKRES TREDHEBSSLADKRES
5 R 4 ﬁ}){ ‘Fﬁrﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 Tﬁﬁuﬁﬁg‘%z(?niqu ‘(.%r‘n%< jj(g')\;tnié X 4 E.g,r'na; J:ﬁﬁ;ﬁ\(ﬁ)(btl:r% jj(gi;tnié X 4 J:ﬁn*m\(i)wtt%' z.%r‘s t(gifn?)é
16 100kN/mM##8Z % - -~ -|3mZEBZD - - -| 100kN/mM%#8Z% % - ~ -|3mEBZD -~ -
ZznLst 1.00 1 000 ~ 493 61.49 | =nlst | 0.00 4.93 | 1.92 10.27 Zzh s 1.00 | 5.00 ~ b56.60 61.49 | =ns | 5,00 ~ 560 | 1.92 10.27
17 100kN/mM#%#8Z % -~ -|3mZEBZD -| 100kN/m%#8Z% % ~ -|3mEBZD -~ -
ZznLst 1.00 | 0.00 ~ 3.06 39.26 | =nLSY | 0.00 3.06 | 2.38 12.73 zh st 1.00 | 5.00 ~ 56.560 39.26 | #hs | 5,00 ~ 550 | 2.88 12.73
19 100kN/mM#%# 8% % ~ -|3mZE#BZ 5 -| 100kN/m%#8 =% ~ -|3mE#BZD -~
zh st 1.00 | 000 ~ 441 55.02 | EnLst | 0.00 4.41 | 2.04 10.91 ZThLLst 1.00 | 5.00 ~ 5.40 55.02 | TnLS | 5,00 ~ 5.40 | 2.04 10.91
19 100kN/mM#%#BZ % ~ -|3mZE#BZ 5 -| 100kN/mM%#B =% ~ -|3mE#BZD -~
Zhs 1.00 | 0.00 ~ 373 47.00 | =Lt | 0.00 3731215 11.48 Zhst 1.00 | 5.00 ~ 5.00 47.00 | ThLS | 500 ~ 500|215 11.48
100kN/mM#%#BZ % ~ ImEHBZD 100kN/mM#E#BZ % ~ 3mEHBZAS ~
zhnst ~ zhn st zh st ~ ZzhnLs ~
100kN/mM#%#BZ % ~ ImEHBZD 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zzhnst ~ zh st zh st ~ ZzhnLs ~
100kN/mM#%# 8% % ~ ImEHBZD 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnst ~ zhnLs zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHEAZDL 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhnLs zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zh st Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEHEZD 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ Zh st Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEHEZD 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st Zhst ~ zh st ~
100kN/mM%#EZ % ~ ImEHEZD 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ZnList ~ Zhst ~
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